
John Deere Front & Rear Suction Door Parts (Hi Drum)

50-1, 50-2

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2022



Item Part OEMPart DescQty

John Deere Front & Rear Suction Door Parts (Hi Drum) 50-1, 50-2

DOOR - R.H. FRONT SUCTION DOOR (ILL.) (9900-9910)AN19079690796R1.1 1

DOOR - L.H. FRONT SUCTION DOOR (9900-9910)AN19079790797L1.2 1

DOOR - R.H. FRONT H-D SUCTION DOOR (ILL.) (9920-9930)AN19111691116R2.1 1

DOOR - L.H. FRONT H-D SUCTION DOOR (9920-9930)AN19111791117L2.2 1

BOLT - 1/4 X 1/2" CARRIAGE BOLT03H189301893P3 1

NUT - 1/4 - SERR HEX FLANGEN1021710217P4 AR

DOOR - R.H. CLEAN-OUT (ILL.) (9920-9930)AN19112291122R5.1 1

DOOR - L.H. CLEAN-OUT (9920-9930)AN19112391123L5.2 1

LATCH - (9920-9930)                      

.                                                                                                                                                   

.

N192933929336 2

TRANSITION - R.H. AIR DUCT TRANSITION (9900-9930)AN19271892718R7.1 1

TRANSITION - L.H. AIR DUCT TRANSITION (9900-9930)AN19271992719L7.2 1

BOLT - 5/16 X 1/2" HEX HEAD FLANGE BOLTN7129271292P8 4

NUT - 5/16 - SERR HEX FLANGEN1021310213P9 AR

DOOR - R.H. REAR H-D SUCTION DOOR (ILL.) (9900-9930)AN11421614216R10.1 NA

DOOR - L.H. REAR H-D SUCTION DOOR (9900-9930)AN11421714217L10.2 NA

BOLT - 5/16 X 5/8" CARRIAGE03H177401774P11 4

BOLT  - 1/4 X 1/2" - SERR HEX FLANGEN1482014820P12 2

NUT - 1/4 - SERR HEX FLANGEN1021710217P13 2

PIN - 3/32 X 3/4 COTTER PIN11H20600206P14 2

PIN - CLEAN-OUT DOOR PINN346023460215 1

DOOR - CLEAN-OUT (9900-9930)N1188751887516 NA

DOOR - R.H. REAR H-D SUCTION DOOR (ILL.) (9940-9950)AN11482614826R17.1 1

DOOR - L.H. REAR H-D SUCTION DOOR (9940-9950)AN11482714827L17.2 1

DOOR - CLEAN-OUT, CONV. (9940-9950)AN1905899058918 1

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2022


